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182|\VhEEBEREHA | AL KEEIR(EE)IECESE) |0t —BtATE| H25.11.7 821,307,600 818,640,000] 99.67 [P IL%R 015N 3
183|LWVh =B RERFR | AN EKEEREE)IECESR) |01 —#tATE| H25.117 774,327,600] 772,200,000] 99.72 [FL/\£332E%H |01 BEW 3
184|\VhEEBBEHA | AEKEEIR(EE)IECESE) |01 —BtATE| H25.11.7 944,697,600/ 939,600,000] 99.46 |(kHHNHhFIFE 015N 2
185|LVh E BTG [ER A EEERBIE (BE-/\2E2) (03 BETS H25.11.7 | 1,343,950,920] 1,339,200,000] 99.64 |k =i&HR 01N 2
186| LNV =R EIFFT |EEAEEER B IE (BE-/RE3) |03 BFETS H25.11.7 1,033,091,280{ 1,029,240,000( 99.62 |=s-rusensrssmexu [01 BER 2
187|WhEEBEEEM [ AXEKEEREB)IECER) |0 —#tAT=E| H25.11.7 [1,216,490,400] 1,211,760,000] 99.61 [sxzsmamscsusmsrssness [01 B H 2
188|Lvh =B =R [ AR KEEIB(EE)TECAI) |or —s+ATE| H25.11.7 994,658,400 991,440,000] 99.67 |[~L/\£332:%M [01 BR 3
189|[LVhEEREFF|[EENEEERHBIE(EE-B8) (3 EFETE H25.11.7 907,656,840 907,200,000] 99.94 | A2 Fikp 01BN 3
190/ B Enm (B K EHIA(BE) TS GeEEM) ot — &+ ATE]| H25.11.7 [ 1,443,452,400] 1,425,600,000] 98.76 [#t-smsersrszmexs |01 B K 1
191 |[HEEBEERE=XA | HEBAKEEIR(EE) IECBFIEN) |01 —fB+tATE| H25.11.7 1,373,338,800] 1,360,800,000( 99.08 [T+ K4 01 A 3
192/ EAEREERm REKESIR(FEE) IBCEEERR) [0t —#&+AT=E] H25.11.7 [ 1,900,368,000] 1,879,200,000] 98.88 [Fh#t+ Kk 01 BN 3
193[EaTEsEnmRAEKEEIHEE)ITE(HRIE) [0 — M+ ATE|[ H25.11.7 687,862,800 680,400,000] 98.91 |zm-msrsznsrssmexs (01 B 1
194|E 2 ABREEBm A (X)) ITEGERT) 01 —fg+AkTHE| H25.11.8 7,236,600 6,930,000] 95.76 [#pER =% 01 BN 8
195|E@ T AEEFT IAEKEEREE)IEC)) |0 —mwtArT= H25.11.8 1,021,161,600( 1,015,200,000f 99.41 |=+ muszrsrssmers (01 B A 1
196| S+ AEFEFT [AHKEEIB(EE)ITECHI) [or —s+AT=E| H2511.8 | 1,050,969,600] 1,047,600,000] 99.67 [mu-mesensrssnesn [01 B R 1
197|WVhEEEBHM [BRERENEISE (GEWEE) 02 8ETE H25.11.11 41,160,000] 40,740,000 98.97 |H AL 01BN 4
198|EM T REHT [AHKEEIBIECGAID 0 —fg+ATE| H25.11.12 26,344500]  26,250,000] 99.64 [E=xH T EH 01 &R 10
199 zrsrensnm (KEEIHIE GFESHET) 02 SETE H25.11.13 44.478,000] 41685000 9372 [WZFZETE |01 BR 4
200 EEJEE&%%%?E ERABEEBHETH (% D@ (BRBEA BT BHOBETHR] 03_@&1% H2511.14 832,931,640 829,440,000| 99.58 [#+/swmmrnnrHsmness 01_%?(] 2
201 B ch iR ER i8R [anoecennrs o sminn sunsmmmsrsauen |03 RE T H H25.11.14 633,389,760 631,800,000] 99.74 |#)iF/k T ¥ 01 BN 2
202| EchiZ R E iR [enoscennrsnn axmamn sussammen [03 RET H H25.11.14 974,340,360] 972,000,000] 99.75 [f& L5325 H) 01 BR 2
203[ B PR FERN [smogeennrscer-smman sursmmes) (03 FETE | H25.11.14 792,654,120| 788,400,000 99.46 |F FIZEH(H) 01 ER 2
204| BV REEFT [AHEKEEIBEE)IECEE) |loo—mtRTE|[ H25.11.14 924,793,200/ 918,000,000] 99.26 |rs-mawerursrmess (01 B R 2
205[ AR =% [ARKEEIBEE)IECERE) o —wtART=| H25.11.14 892,220,400 887,760,000] 99.50 [ms manerurssmexs [01 EA 4
206|FEMEESERT | AHEKEBIBEE) IECER) |0t —@tATE| H25.11.14 | 1,865,710,800] 1,852,200,000] 99.27 |- swsrnsrssmess |01 B[R 2
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207[FEMERER [NEKEBIREE) IECER) |on—#tATE]| H25.11.14 [ 1,185,202,800] 1,179,360,000] 9950 [/NEFEE %) 01 &R 2
208| AWML ER [NEKEEIBEE)IECER) |0 —tAT=| H25.11.14 | 1,718,344,800] 1,712,880,000] 99.68 [/NEFEELGH 01 &KX 3
209[ /B IR EERr [AEKEBIBEBE)IECERE) o —mtATE|] H25.11.14 | 1,846,594,800] 1,838,160,000] 99.54 [15-e7nenurssness [01 B R 3
210 ENEBRE5 [AEKEEBIREE)IEGEE) [0t —#tATHE| H25.11.14 | 1,864,760,400] 1,857,600,000] 99.61 [/NEFEEERHR 01 BN 3
211 | BB Er [AHKEEIBREE)IECER) |on—mtATE| H25.11.14 | 1,852,297,200] 1,843,560,000( 99.52 [/NEFEE 5% 01BN 3
22 ENEBRER [ANEKEEREE)IECESE) o0 —#tAkTE| H25.11.14 | 1,670,922,000] 1,652,400,000] 98.89 |t + A6 01BN 3
03[ FANERERT [NEKEBIREE)IECER) [0t —tATE]| H25.11.14 [ 1,430,028,000] 1,424,520,000] 99.61 [ms-=n eunerursrmens[01 B A 2
14| FEMEEER [ANEKEBIREE)IECER) |0t —@tATE| H25.11.14 | 1517,335,200] 1,501,200,000] 98.93 [n-xusisurunrssmess |01 A 3
215[ A B IR B [AEKEBIBEE)IECERE) o —mtATE|] H25.11.14 [ 1,933,707,600] 1,911,600,000] 98.85 [pnrusisnenurssness[01 B 4
216|AREEEHA | NEKEEIHEE)IECER) —ftATE| H25.11.14 | 1,004,432,400] 993,600,000 98.92 [wtsssusnsnnrssmess |01 &R 3
217|WVh =B BB [EEARTERBIE(ER-/IEET) (04 BEJETE| H25.11.14 134,028,000f 133,920,000{ 99.91 |EHMREFLZEEHR [01 BN 11
28| LVHEEBREHAT [ERLER *%1#1%(1%*:& INEGET) | mameenmrs | H25.11.14 215,676,000] 210,600,000] 97.64 [= H&EM 01BN 11
21| LVhE RS EHAT [ERAEEEBHIE(BER-/RiE2) 4 BREHETE| H25.11.14 121,392,000] 120,960,000 99.64 [#woz1-s1-u7rs1.]01 BR 11
220| LN EESREHAT @ME&%%&FI%@%W INEGED) [ mammienmzes| H25.11.14 231,552,000] 230,040,000] 99.34 [JtEEEZERAT XM [01 ER 11
21|WVh =B EHm [EEARTERBIE(ER-/NEES) (4 BEJETE| H25.11.14 94,618,800/  94,500,000] 99.87 [ L /\EHis) 015N 11
22|\ EERETE 12;@4@*5‘11%355*#&1%<$§w-4\%,ﬁ3> s EARMARBIE | H25.11.14 139,860,000( 138,996,000( 99.38 |WAXEIT¥rr |01 BERA 10
223|VVHEEREHRF | EEAEREIEZCERFRHESUS) 4 #MEBIE| H25.11.14 4,066,650 3,885,000] 9553 [=z®mriro v—ezm [04 1B 4} 1
24| VVhEELERFR | ERAEXEBREIS (B -58) aB88mTE]| H25.11.14 108,864,000] 106,920,000] 98.21 [WeAEHRE—E2[01 BR 11
225|VVhEEREE |EEAEFEEEISE - ﬁ*‘g) s EARMERBIE | H25.11.14 126,792,000{ 126,360,000( 99.65 |[~L /\E%{EH 01 EWN 11
226|/N 2 EBERREBR ’é%“‘ B8 (BE) TECEEER) ot —#+AT=| H25.11.14 | 1,151,474,400] 1,148,040,000] 99.70 [uwr msserarssmess [01 B R 1
227 e EsEeaEnr B KEEIR(EE) TECERIERN) |01 —BtATE|] H25.11.14 661,186,800/ 658,800,000 99.63 &S ZET% |01 1
228| S AR ESH ERBY LS B (X)) TEWBETI) o —i+ARTE| H25.11.18 25,788,000 25,620,000 99.34 [IL+EEH 01BN 8
229|W\HOTEEREHEA KR TR (@ AR-EEK (B)) 01 —#+RKITFE|[ H25.11.18 51,387,000  50,925,000] 99.10 |FRERZH 01_EWN 10
230| Ech iR E i8R |enoseenars@ms aaw @i sursiumen |04 BEREHITE| H25.11.19 54,109,080 52,920,000] 97.80 [hEFE TG 01 EWN 11
231 EhiZREFKT |eresesnnzs ep axuwn i pursxumen] (05 BARGLRHTIE H25.11.19 71,815,680 65,880,000 91.73 | = ¥% 50 01 &N 11
232| Ech iR E BT |anoscenarsmn smimnen sunsmmnsreawen |04 BERBMWIE| H25.11.19 66,774,240  65,880,000] 98.66 |[SHIEZ T X4 [01 BEW 11
233 EhiZ N E R [erovesssrsmnzmmem sumzsmmsreawen (o5 EAREmLRHIE | H25.11.19 75,557,880 71,604,000| 94.76 |B/MMRIBITEFT (01 BN 11
234| B h iR ER RSP |amoxeennrs @e-wm (Ean sunsEmen) |04 ERBRMETE | H25.11.19 89,883,000]  89,640,000( 99.72 |ERILETH 01BN 11
235| EchiZ L EFRFT [ereeezearson s (sam sunsnmen) |05 EAEMERHTIE | H25.11.19 108,024,840( 100,656,000) 9317 |[MX#TEr |01 BR 11
236| B hiZREF |[csrensamrsanienin sunemmrsansnme (01—t AKTE| H25.11.19 2,778,300 2,709,000 97.50 |HN;BEERMD 01 &N 9
237| B ch iR BT |enosnzzarsmn-anm@inn pumssmmes) [os gamaismnIs | H25.11.19 129,466,080] 117,828,000] 91.01 [MLTT R |01 BER 11
238| B h iR E i8R |anoseenurs s anmanmn surssmmen |04 EREMWITE| H25.11.19 112,179,600] 111,780,000 99.64 [ A[EE5%0p 01 BN 11
20| EERT R AFERRIWETEGEFRT) |01 —BtARTHE| H25.11.20 10,096,800 9,975,000] 98.79 |)I| & E i 01 EW 8
200|\VhE BB LA 5 ahTE (B AR EEX (7)) [0l —@TALE| H2511.20 141,120,000f 140,700,000 99.70 |#)/K o %H 015N 9
241 [£EENBEREEH | BELAEFEEHIZE EE -G/ |03 BETSE H25.11.21 396,954,000/ 365,040,000 91.96 [EAEEZT XM |01 BN 11
00| EEnEREET | EEAEXEREIZ(BR-T)) [aessmI=E]| H25.11.21 62,214,480 58,968,000 9478 W=+ T ¥m< [01 BR 11
243|2EnEREEF |[EREAEXEREIE B -T)I) [eesmssanzs]| H25.11.21 77,865,840  74,520,000] 95.70 |EEFR T £k 01 EW 9
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24| FEMEBRER [FLMBEETE OKBEILXHR) [4mszmTs] H25.11.26 9,318,750 8,925000] 9577 |wEEz =7 o5 [ mzssn 2
2451 B (N HEKEEBIR(EE)TECA) |15 BERHBIE| H25.11.26 9,086,700 9,030,000/ 99.37 [E+@HH 04 B 4} 1
246 |RemETAEREEER [ T ACEHITEE CERRSTEER S ITE [0l — it ATE] H25.11.26 12,774,300  12,075,000] 94.52 |& ") &%) 01BN 9
247 |HEXRER BB (M AKEEIR(EE)IECEE) [0 —BEIARIFE| H25.11.27 137,340,000/ 135,450,000] 98.62 [#& L EH) 01 BN 13
248| =F X KEH |OSLWVEKYHETECHE) [0l —@EATE| H25.11.29 36,811,950] 36,435,000 98.97 [#xA T E# 01 EWN 6
209| B EREHEA | AEEARRENETH(GEMEE) |02 HETE H25.12.2 4,567,500 4,515,000 98.85 [ZEA LM 01BN 2
250| R ENERERT | A FERRAWETIE(EE) 01—+ ATE| H25.12.2 8,775,900 8,610,000 98.10 [H)H 248 01 EWN 2
251 |2 e RN EET | EE A ERETE R KERE) |sareecunis| H25122 29.427,300] 29,085,000 98.83 |HET % 03 B 3
252|E2 FESER | EEERREANETEGERT) |01 —HtATE| H25.122 5,702,550 5,376,000 94.27 |EE 01 &N 6
253|EMEAREH (AEKEBIBEE)ITECANI) [0t —#F+ARIFE| H25.12.2 47,901,000 47,565,000] 99.29 [AnEEEEH 01BN 8
254| BB ERmEET [EREY SBE (FE) TS (KXEHE) [or — @+ ARTE|[ H25.12.3 11,426,100 11,340,000 99.24 | (&) HT1t 015N 10
255| B EnmEs ERIBY LS BE GRT) TEERKE) [0t —@tATE| H25.12.3 8,038,800 7,980,000] 99.26 [>=LZEHH 01N 9
256 BB AEHB | AEFTEBRERETIECGGETIN) |01 —BERTE| H25.12.4 11,107,950] 11,025,000 99.25 [6ps =% 01.EWN 9
57 =F T KERA |EFEBREWNEIEFCHETL) |01 —B+ATE| H25.125 3,683,400 3,496,500] 94.92 [=FT XM 01 &R 9
258| LV =R EFSAN (BB (EEK (BF)) T= (RFséfi) [or —@+RT=E|[ H25.125 56,973,000]  56,700,000] 99.52 [k =15%R 015N 9
259| B AbiEEREFEAr |MOFE (Rt (BE)) ITE CEm) 10 2EMETE| H25.12.6 11,823,000 11,655,000[ 9857 [WTXTs—I R |01 BRA 4
260| B ER [ERBYOEBCE) IEERE) (01 —BEARTE| H25.126 8,833,650 8,610,000 97.46 | B AT /KBHFEER |04 12 4} p)
261 |HEEAZRREEmM|KERIBTIE (HFiEG-S%E) 02&ETSE H25.12.6 190,585,500] 186,900,000 98.06 [F k32 E5%4% 01BN 12
262|LVHEERERH ([ AEKREEIREE) ITE=CER) [0 —mtAT=E|] H25.12.10 419,905,500 418,950,000( 99.77 |¥&E;T T ZEH 01.EMN 9
263|EMEAREHN | NHEKEEHEE)IECER) |01 —MBEARTE| H25.12.10 31,899,000 31,500,000] 98.74 [t + ARG 01 &R 11
264 BEREIASZHEN | BZHIBEETIE BHEE) 14 B TE| H25.12.13 8,598,450 8,557,500 99.52 |17 = T ¥ 02 BHEIEN 1
265| 22 ENERBEN | EEATRETE BKERE) |oerenscsnts| H2512.16 17,718,750) 17,535,000 98.96 |EEAEET 24P |03 ER 1
266| V=B REET | AR KEE/EALSE G 01 —fg+AKTHE| H25.12.16 2,806,650 2,709,000| 96.52 |[B)KiHEER 01 EWN 8
267|enenEnmenn A FEARBREARETE(EEEIR) o — Bt ATE] H25.12.17 13,913,550/ 13,860,000 99.61 [&>&L E2%4P 01BN 10
268| BV REEA [AHEKEEIBEE)IECERE) |or—mEtARTE[ H25.12.17 824,688,000/ 815,400,000] 98.87 |ra munenurszmezs (01 &K 4
269|AREEREHEA [ AHEKEEHEE ISGER) |02 HETE H25.12.17 230,790,000 227,850,000] 98.72 [FE It RGP 01 BEWN 9
20|V hEERERAT | AR KEE I TS GEER) 01—t ATHE| H25.12.17 14,227,500 14,070,000 98.89 |#Es EE% 01.EMN 5
2N |WhEEREHR [ AEKEBIR(EE)TEFCA)D [0l — BT ARIFE| H25.12.17 77,206,500]  77,175,000] 99.95 [#phnthFOLE 01BN 8
22|WhEEREEM | AR KEBIEIE GAIJID 01 —fig+ATE| H25.12.17 15,246,000 15,120,000 99.17 |®)/K 4l 01 &R 4
273 BB N L AREFHERT ERBYLOSHE G TECEET) [0l — MKt ATE| H25.12.18 11,952,150) 11,707,500 97.95 |#R/\ AR ;B#A 01BN 10
74| HEPEREHR |AFERRIWETE EE) 02 8T E H25.12.18 12,504,450]  12,075,000] 96.56 [EEdt 22508 01 BN 9
275 |EaErREsm ARKEEHESE) IEWISS) o —BEARITHE| H25.12.19 411,620,400] 410,400,000] 99.70 [EEEF 32 ERH 01BN 18
276|[EHERREEmEEKREEIIEE) IEWES) |01 —BEATE| H25.12.19 243,324,000/ 243,000,000] 99.86 |/]NEFiE RGP 01 BN 12
277| BB ERA |[EEFEEXRETE ((HK) 03 JEFETH H25.12.20 8,179,500 7,770,000 94.99 [GPERILZEEE 02 BE3ER 2
278| B L BN E AT EBRAEY £SO B hiF) TE GERKB) [0t — g+t ATHE| H25.12.24 15,939,000 15,540,000 97.49 [E{EEEH 01BN 2
279|ZEZ HEREHAT [ ERBYLSHE M) TECHEEH) |13 HEISE H25.12.24 12,782,700 12,243,000 95.77 |exerrmzmEnzsy |04 1B 4} 4
280 EEERREEm [ AEKEGIR(BE) TEGER) o1 —#EATHE| H25.12.25 183,535,200] 181,440,000] 98.85 [EFHZRH 01 EHN 10
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281 |SEENEBEISEET | EREYOSRBBEBE)IETCEEI) [10AERNETIE| H25.12.26 85,996,050  77,053,200] 89.60 [FE—Hk{L T¥EM |01 ER 8
282|L\h R E ISR (Mg OCKYRRIBE (M) TEEET) (02 FHRET = H25.12.26 9,517,200 9,187,500 96.53 |@{x )R 02 B3R 8
283\ EEXEEFM | EEFERETIE(MHEHFHE) 03 EETE H25.12.26 25,179,000]  25,095,000] 99.66 [N FIFA 01 EWN 5
284|ngiEmrensEnm |KEBHIE (HFESHET) 02 TS H25.12.26 226,659,600 208,440,000] 91.96 |W)iED4A 01 BN 10
285|naEmmenEnm |KEBIHIE (FESHET) 02 8T E H25.12.26 283,392,000/ 278,640,000] 98.32 |#E;E K—E&MP [01 BR 11
286/ gEmrensEnm | BZXERAHEE) IE(FE) [0 —MtATE| H25.12.26 254,102,400 252,720,000 99.45 |¥&E;T T ¥# 01 BN 1
287|=FTAERF [EFEBRERETE (AET) [0 —wtAkT=E| H25.12.27 10,012,800 9,870,000 9857 [E+ T &P 01 BRN 5
288t B [N HAKELIB(EE)TE CallD (ot —EEARITFE| H25.12.27 495,093,600 491,400,000 99.25 |EE kiR 01 BR 1
289| AR B | A HKEEIB(EE)ITSECAI) |or —fEEARITFE| H25.12.27 430,088,400 426,600,000 99.18 |E k%M 01 BEWN 1
20(WHZEFEEEEM |BE (RXTEE) TECHET) [0 —#+ATHE| H25.12.27 192,024,000] 191,160,000 99.55 |#AnshFO4E 01.EA 11
291 |V =R 75T [H A BE (EE K (Bh)) T (Bh i) (o1 —@+ARTE| H25.12.27 191,160,000( 190,080,000 99.43 |¥E;T T FEH 015N 11
22|V ZFEEREHA I (R (BE)) TE (=) 01 —fgtATE| H25.12.27 155,412,000] 154,440,000 99.37 |#Rh0ihFO4H 01.ER 11
203|LVh BN [EE AR EERMIEGER /M EE2) [0l —EARTE| H25.12.27 62,779,500  62,580,000] 99.68 |k =15%R 015N 9
204 | g TcERRESR |FE T AEM S SECERERSTRER S ITSH 14 BEMBHBIE| H25.12.27 299,236,350 298,200,000] 99.65 |#H#F RUEMAr (04 E 4t 1
295| B AL BB EFRAT EREY LOBME ) TE (KER) ot —BtAkTE H26.1.6 10,846,500] 10,710,000 98.74 |EgEEE%4P 01 ER 1
206[LUO X KRFEFH IR IE(ERT) 01—t KIS H26.1.8 15,070,650 14,490,000( 96.14 | XEXTEITE® (01 ER 12
2071 lLAERFEFHEFR (A IE(EET) 01 —f+AT=E| H26.1.8 4,651,500 4,620,000 99.32 |[FEFEZH 01BN 7
208| AR EHEA | AHEKEEHEE)ISGER) |02 HETE H26.1.8 294,420,000] 290,850,000] 98.78 |FE It EEERHP 01 ERN 10
299|HEPEER =R [ NEKEEHEE IS=CESE) | —BEATE| H26.1.8 367,038,000] 363,960,000 99.16 |EHH K 01 &M 20
300[ AR E=RF (AEKEEIEEE) IECESR) |or—MmtAT=| H26.1.8 393,627,600 383,400,000] 97.40 |FH)IIEETEM [01 BR 20
301 [HAMELER | NHEKEEHEE) IEGER) (02455 TE H26.1.8 181,020,000{ 178,500,000 98.60 |FEFIEEZT XM |01 BR 10
302|EMEKRFEF LAl (3XfF (BE)) TE (FER) 0 —fg+AT=| H26.1.9 285,876,000] 282,960,000] 98.98 |HhiEEH) 01BN 6
303 Bt EEERFT (A EKEEIRTECAI 0l — &+ AT=E| H26.1.10 24,853,500 24,675000] 99.28 | H L iE 01 EW 3
04| LR EREHA KENELERATEMETE (FIET) [0t — @Bt ATE| H26.1.15 51,192,000 51,192,000] 100.00 [ZEEZ%H 01 BEWN 13
305| K EKREHR |EFERBRIRETE GERMIE) (01 —MEARTE| H26.1.16 9,514,050 9,240,000( 97.11 [ RE% 01 EXN 9
06| HEEAZRRERAMABKEEIHEE) IECERIEMN) ot —®EtARTE[ H26.1.16 864,896,400 853,200,000] 98.64 [rnmmumsznnrszness (01 B 3
07|EEHA RN =R MABKERIR(EE) TECEEIEM) ot —#BtATE|] H26.1.16 874,800,000 867,240,000] 99.13 [mn=mwmsrasssmess [01 &R 3
08|HESERSERT AEKESIR(EE)IE PHKIE) ot —HtATE| H26.1.16 | 1,148,342,400] 1,134,000,000( 98.75 |za-smsensrszmess [01 BN 1
309 zEszegEnm (AEKERIE(ESR) TECEBEER) lon —@tAT=] H26.1.16 [ 1,154,088,000] 1,150,200,000] 99.66 [z sumeszunrssmezs [01 B R 1
30| R TR | K ENESRATERETSE A D) o — Bt ATE| H261.17 298,296,000] 298,080,000] 99.92 [mmamsusari—a mansn [01 B[R 13
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